Math 7 Unit 2 Assignment

Name:
Selected Response: Put the letter of the best response in the space provided.
1. What is the value of the integer being modeled? 1)
OOO®O®  bpsTe
. 3.)
OO BRegative
4)
A) -5 5)
B) -2 6.)
7.)
9.)
2. You have 3 positive tiles and you use all of them. e
You want to model —4. 11.)
How many negative tiles do you need?
A1 aog
B) 3 N\ = )
EEBRE
C) 4
3. Sue earns $27 and then spends $18. Which integer represents her profit or loss?
A) —11

B) —9 (Jfajr)'l'(‘l%)
= +q

D) +11



What is the addition equation modeled on the number line?

4 —7
+4
——
/48 W W T T (N [ (N S O NN
N o rrrrrrorrrrorrr /s
-0 9 8 -7 6 54 3 -2 -1 01 2 3 4 56 7 8 9 10

A (=7) + (-4) = —11

B) (=7) + (-3) = —10

T =

D) (+4) + (=3) = +1

In the morning the temperature was —5°C.
By 2 o’clock the temperature had increased by 12°C.
What was the temperature, in°C, at 2 o’clock?

A) -12 (‘5) NLE :toQ

B) -7

(22

D) +12

Which pair of integers has a of —327

C A) -12and -205(_|u_r (-20) \

B 4and+s =32 Mewd the answer of addi ki Ok

C) +2and-36

D) +17 and + 15



7. Which statement about two integers is correct?
A) the sum of two positives is negative><

B) the sum of two negatives is n@

C) the sum of two opposite integers is positive}, SUMN Oc o pPOS'l te in \'fﬂf rS

1s 0.

D) the sum of a negative and positive is positivey go

fhm“ fue

8. Which subtraction expression is modeled by the integer counters?

e
000

A) (=3)- (+5)

B) (=3)- (+2)

D) (+5)-(=3)

9. Which statement is equivalent to (—6) - (—15)?

A) (-6) + (-15)

C) (+6) + (-15)

D) (+6) + (+15)

10. Evaluatew—(‘%) (_-_‘_) + (—ll\ ~ ._‘D(
277D (4a) - (49)
B) —19 .M (_\q){-(-%):"zkf

C) +10

B

D) +27



11.  Anairplane is cruising at an altitude of 3500 m and a submarine is submerged at a

depth 975 m. What is th in m, of the elevation between these two
modes of transportation?

A) 1632 Qubtraction
B) 2525
(+3500) - (-935)

= 3500 + (+A15
= 44%

‘3300
B}

14315



Constructed Response: Show ALL workings for FULL marks!!!

12.  Model the integer —5 two different ways. [2 marks]
13.  Use a model of your choice (integer counters, number lines, etc.) to add or subtract.
State your answer. [12 marks]
N D+ 10z - S B) (-5)+ (-3) = - R
&

. S L L\ ‘l.
< '! L | —t [ T T |ﬁ> 6 —t—tr
@‘2-|a| 23 456 3 ED-Fes43-2-1 O

Q) (-8)- (+2) = -10 %
pdapednasg Ad BE 8

s EEL

(-8)+(-7):-ID -3)x(re)= 3
é/‘ ! — '\4‘\1 — :;‘ l#l \ $ N

\ 4

Explain how you know

[3 marks]

OneT H's |esc +han -9 ;
oddi Bon _\3,_\\4,_\5.!- N

< ~4 -3 -2 -] )
@ -Q §4 '.:| Flnd an integer pa1rw1th2?of -25 where oné nurnzber 1s‘1ess%an -12. 2 ®

AhSwers May Vo“"j .



15. Rick has a debt of $76.

He earns $42 on each of three days and spends $59 on a skateboard.

How much money or debt does he now have? Explain. [3 marks]

Eornings ((—?Q*’ \2(p‘+ (-59) 126

-36
t2%3= 126 50 + (-59) 50

-9 Rick has $9 dlebd

When you subtract two negative integers, do you always get a negative difference?
Use examples to explain how you know. [3 marks]

(=) -G o D0
L (5Y 1 (40) (-0 +(19)

2 +L+
- ‘L} N07H\€ answey I‘S NM ﬂlWQSS

(—‘3\'1 \U
17. Evaluate. [16 marks

A) (-35) + (-14) B) (+6) + (-17) C) (-15) + (+7)

-49 -1 -%

16.

D) (-14) - (+5) E) (-12) - (-18) F) (+18) - (+27) 9
(- H(-5) - (1) H(H19) = (1) (-23)

* -19 >ty -9

) (3) + (-13) + (+4) ), (=16) - (=5)+ (+14) (-1¢) t(t S}

(-16)+ (+4) = G o)+ (v -1
-2 = 3




